ttbar threshold

2014/1/10
Tomohiro Horiguchi



status

» Writing Master’ thesis

— deadline 14t Jan.

> Arg

— Estimation of o,



Ars

» Dose A;; depend on polarization??

— Ar; can be measured at (e+, e-)=(-0.3, 0.8) but
can’t at left one??

— | can’t understand this reason.

w015 ———FT+———+ 17—+ - ©0.15 ——1————1———1—————7——— .
[T [

“ osf  Electron Leftcwn ] = ot —venn
T e 005 _W_
0 —M_ 0;_ EIECtron Right
-0.05 E_ 200 fb- _E -0.05 g_ 200 fb-l_g
-0.1% ; 01 '33,2' ' '34',4' ' '34',6' ' '34',8' ' 'séo
Ec(GeV)
1000 F
8003
eoo: .
w00 200 fb? 3
200 - Left 346 GeV E
0-:IIII|0|5|III(|)III|0l5llll_1




AFB

0.06 F [Vyf* = 1

> HOW to eStimatlon for aS o -al)nt= 150 GeV = =

— From Fujii-san’s paper oos | O M

-
/’as (m-z) =0.11:detdash

0.02 S~ - =0.12:s50lid
005 L R L zr I 0.00 Fo P =013da5h ..... .
i ivu,l = 1 - ’ ISR +, beam effects | )
; 0.04 No Higgs =] m, = 150 GeV 7
© » . 006 | o (mg) = 0.12 .
&) - le bound for 40k detected events - 1
— r _i 04 .
T 0.03 - ] 0.0 “
I X B U Nt -~ |Vy|?=0.8:dotdash |
25 — - 0.02 T~ . =1.0:solid
":l .D, 02 -— — 0.00 F-oms el =12da5h -
“"'E’n ’ - N ISR +, beam effects | ,
= - T L 1 1
qi:t- g ] 0.08 l—r—') >
-_ Evtb[z =1
0.01 . 0.06 } a (mg) = 0.12 -
i : ISR + beam effects - No Higgs
L : : : - 0.04 »
B Dﬂ i i i L I L I I I L i Y I i i L L
: m,{GeV)=149:dotdash |
0.1 0.11 0.12 0.13 0.14 0.02 : =150:s0lid
=151:dash
os(myg) 0.00 b =1 aesh ]
ISR +, beamn effects \ \
-1 8] 1 2 3 4

AE (GeV)



